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L = S == S i}
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.8 NE . MAE = Of & % = oA
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UBEAD 936, 142 936, 142 0
931, 142 931,142 010 HisHA2sSERSENS
CTHASE |4 (|4, HESUH) = 872,942
cEHHKH 2L 58,200
AYPE2 580,690,000 x 1.7% = 9,872
=1k 580,690,000 x 1.5% = 8,711
- R03 580,690,00091 x 4.5% = 26,132
AT E 580,690,000 x 0.6% = 3,485
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5,000 5,000 0|11 JIEtE A2
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10,369,590 9,130,479 1,239,111 [ 5,797,000 3,036,229 = 01
UBEAD 4,000 4,000 0
4,000 4,000 001 ABI2&H 4612
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&:(2000) AFBIOHEHI 2 (2100) RS L 235+ 5:(2110)23H 2 MS M IRAS  HAEZ2| HAE: (210)BXAIY REEERE])
i = = E] o m
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA - = -

oHAHE HMEZZ = 6,000
(%) 3,000
(1) 3,000

308

XX SH S 1,782,997 1,503,007 279,990
ol &
1,782,997 1,503,007 279,990 |01 RXISHHMIAEERZ

ocEHEHAE QUMS A& = 205,200
(21) 205,200
oMEHENA 2Y = 160,541
() 86,445
(21 74,096
oMERSX T 21| = 538,407
() 179,469
(21) 358,938
oMEFEIZ MY = 173,548
(21) 173,548
oH|HREN2Y X 6,000,000 x 64 = 36,000
(%) 18,000
(71 18,000
S (1700A) 85,000

_25_




Z:(2000) AFBIOHEEHI 21 (2100) R R L 235t sH(2110)25 D& HS  ME:(2113)HS - HAEDR  MAME:(210) BEAY LEIEGRE=
_BP_ _ = o oa o |8 = im) N = ) i
X BHBNIB AN = o A | = oA 2 N

(1) 85,000

CBBHAEUSBUIZNURY
14,000,0002 x 12904 x 75% = 126,000
(%) 42,000
(1) 84,000

oHAHXEXHHHXI X

1,000,000 x 1228 x 11JHA x 50% = 66,000
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ocHAHRARARG 2N
5,000,000 x 8J4 A = 40,000
(1) 40,000
o3 HAWUAMIH2DZR )WL = 32,000
(%) 17,000
(1) 15,000
CIIEHAY dH2Y 116,250,000 x 75% = 87,188
(%) 29,063
(1) 58,125
oANZ HAEXXRIHS 32,000,0002 x 40% = 12,800
(%) 6,400
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(%) 6,250
CHIFE HAE AT X
12,500,000 x 75% = 9,375
(2) 6,250
(%) 3,125
403
NXIEHS 7,757,000 6,700,000 1,057,000
JE=NIPS]
7,757,000 6,700,000 1,057,000 01 XtXISHHMIAHE 2 X
oMEHYSB (5IML) = 2,500,000
() 2,500,000
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X (2000) AFBIDHEEH  2+:(2100) DS L 235t 5:(2110)25 " ZZ S ME:(QUB)HS - HAEZ2  HAIE:(220) KHAAFY LEIEERED
ot = P I = H ml
oI & = At = 7| ES
& 2.8t HIE M AIE of A | = A 2
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2 (2000) AFRIOHEH]  2H:(2100) R L 25| &:(2110) 23 22 " M= Mg (213 ME - HAEd22]  MAIE: (220) AEAHIAF [ME] 23]
ok = 7S I R == ] m}
G & = 0 x
Xt BB MIE HIMIE = of & o = A 2
SHOIEESR HX (S=2 - 4lIX)
60,000,000& x 50% = 30,000
SoKNAEHLIAZY 2UAIA 46,000,0002 x 50% = 23,000
705
ol=22el 22,200 24,000 A 1,800
=
22,200 24,000 A 1,800/02 0ll=20| XtAts
SHOIALH SR 600,000,0002 x 3.7% = 22,200
N = & H 90,630,550 88,512,939 2,117,611
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